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LAW (PAPER-III)
( Penal, Revenue and Local Laws )

Time Allowed : Three Hours Maximum Marks : 200

SPECIFIC INSTRUCTIONS

Candidate should answer six questions in all. Question Nos. 1 and 2 are compulsory and rest
two each should be from Section—A and Section—B.

Marks carried by each question are indicated at its end.

1. 3IW Yo S =ehaal AfifEm, 1953 4 aftfa wEwH % i Fefafia ) aweme -

As per the provisions of the UP Consolidation of Holdings Act, 1953, explain the
following :

(a) THE<) &3

Consolidation area 10
(b) A U

Tenure holder 10
(c) i &l IFa<l ¥ @&d T I

Aims and objectives of consolidation of holdings 10
(d) FFE< FEE] v SAE I

Essential requirements of consolidation scheme 10

2. fFfafas =, I wew v9Ea 9 Afufam, 1947 # aftfa yaurl  srafa, Rwfet fafao

As per the provisions of the UP Panchayat Raj Act, 1947, write notes on the
following :

(@) =@ q=EEd

Nyaya Panchayat 10
(b) W A
Gram Panchayat 10
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(c)

(d)

UM | I ge=gql F fau HEmEan

Disqualifications for the membership of Gram Sabha

W Y T I9-99F H FHafEA
Election for Gram Pradhan and Upapradhan

@Uus—31 / SECTION—A

3. IW YW TROTEER SR, 1916 # aftfq frefaiad w1 auesg
Explain the following as provided under the UP Municipalities Act, 1916 :

/5

(@)

(b)

(c)

(a)

(b)

(a)

(b)

RIS, FRUTGH &3 Td TRUTe 9iug,
Municipality, Municipal Area and Municipal Council

T faued e g% gfory

Dissolution of Municipality and its consequences

st =R % fov StEms

Regulations for offensive trades

TEATawE AR 9 g F afusd w i f e i)

Discuss the restrictions on the rights of the Bhumidhar having transferable
rights.

B2l Wﬁaaﬁmmqﬁmwﬂamﬁmmﬁqﬁm%ﬁwmmm?
gfs &, @ %9 AN F4?

Can a Bhumidhar with non-transferable rights acquire rights of a Bhumidhar
with transferable rights? If yes, how and when?

T S 1 92 W I & Gy § IW Yeu it IqeH T -gur A, 1950 % =id
FH HEW A 87 G

T FITAHR, S & ARk 781 8, G Sig =) ) =g $ 92 W 2 a1 &1 39 92 H oA
i Bm? we ifs

In relation to lease his holding, who is disabled person under the UP Zamindari
Abolition and Land Reforms Act, 1950? Explain.

A cultivator who is not disabled leases out his holding. What would be the
consequences of such lease? Explain.

IR WeW & FHiErE oy s | 3o Hoﬁlﬁiﬁ]ﬁ?ﬂﬁq@{w Hiufm, 1950 § FH-3
yfeey siftrifia feee mo &7

Mention the restrictions which the UP Zamindari Abolition and Land Reforms
Act, 1950 has imposed on transfer of agricultural land in UP.
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6. (a) = TEACUIY AFER T M F Sa A 9 F O 9w A aHiEg W oawar 27

/5

(b)

(@)

(b)

(a)

afe TE R TRl srgeiEa s o1 orgfea sHefa @ wefia @, 9 59 "9y 3§ e el
1 Bf? wHEE

Can a Bhumidhar with transferable rights bequeath his holding or any part
of it?

If such Bhumidhar belongs to a Scheduled Caste or Scheduled Tribe, what
shall be his position in this regard? Explain. 20

frafafaa ame 3 auftsr =1 %9 =9k

Point out the order of inheritance in the following cases :

(i) 19 TH gV SR 1 919 e i Sige WS @
A male Bhumidhar dies leaving behind his

(1) erferarfed ageht

unmarried daughter 4
(2) w

mother ) 3
(3) foen

father 3

(i) <& T Higen g 9 9ie Fre 9 siew WS R
A female landholder dies leaving behind her

(1) dfa

husband 4
(2 T

son 3
@)

daughter 3

WUs—d |/ SECTION—B

it w:fRfe & 319 o e §7 9RdE gve diean, 1860 § squifyes WAl w w
e §7 HHemsy|

What do you understand by mens rea? What is the importance of mens rea
under the Indian Penal Code, 18607 Discuss. 15

‘F & e @ wfeen ¥ @@ ¥ E owm oy F @ wge T8 w2 o R ar e

‘%’ W BIER AT I T F X =l I ® AR gwl 9w 0 * iy ufi-ueh F w9 d @
Tl 21 FE M H WY FaRe|

A is married to a female B. B does not remain satisfied by her husband A. One

day leaving her husband A’s house she goes to the house of her paramour C
and there she remains with C as husband and wife. Discuss here C’s offence. 10

STerrst 3R @ @ 9fenfid iy 3R 3 79 =R e Fifem)
Define and distinguish between forgery and cheating. 10
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10.

/5

(b)

(c)

(@)

(b)

(c)

(@)

(b)

‘F, ‘@ T ARG W UNE 9% HEd g sfEd 18 8, 0 9% ed (3% ) ¥ 2@
o § S I Y E9R T S 9 @ R F F A 5 S Fia HA1 27 FHROr Hied
3w 4R

A picks up a bearer cheque signed by B from a bank counter. No amount is
shown in the cheque. A inserts ten thousand rupees in the cheque. Has A
committed any offence? Answer with reasons.

'F UF @UER ¥ O @ S aeh oot @ e % fow A da @ fe dea @ R
EUHER W B F 9H5A1 T4 5 @ (9500) § W 7 I AF da ) ;= F A FE AW
o 27 @Rw @fed IR A

A takes a golden ring from a goldsmith for showing it to his wife but does not
return it to the goldsmith. A retains it against the debt due to him from the
goldsmith. Has A committed any offence? Answer by giving reasons.

H F =1 9 F@ F gay § T gmw § wrda qve w@feq, 1860 i U 354 % Fid
sy fafy (deiem) wifufem, 2013 g A ffim w60 @ o o, 37 e
Explain the different forms of outraging of modesty of a woman which in recent

past the Criminal Law (Amendment) Act, 2013 has enumerated under Section
354 of the Indian Penal Code, 1860.

‘s i B dd 3R S0y FiRa F9 F M S EHA O I A S
wy Hifv| o I A g § fofla 9 @ 39w serm i

Explain ‘preparation to commit crime’ and ‘attempt to commit crime’, and point
out the distinction between them. Answer with the help of suitable illustration
or decided cases.

‘T wF d-Riam (**+) Sze S 2 @R Fw € 600 F@F] R ¥F A a1 TEE T8 T
2 5 3o 99 @l £1 98 Bied & B o = yam 98 & 21 F 3 FH-E 390y Fid
o 27 @Rm afed I A

A goes to a three-star (***) hotel and there consumes foods and drinks to the
sum of ¥ 600 knowing that his pockets are empty. He could not pay the
amount. What offence has been committed by A? Answer with reasons.

A rE-s Rl Fed 87 0 sy § fE-fe ad ® fag TR s sews @7
‘s - e ‘st gRERE § e we fifg) s s seee wfed A
What is Criminal Breach of Trust? What facts are to be proved for such
offence? Point out the difference between ‘Criminal Breach of Trust’ and
‘Criminal Misappropriation’. Support your answer with examples.

‘F 3@ TFA F 7d | @A N veEa A ¢ 5 21 ‘@ gvE "9 g8 | g o v
‘@ 3 FH-w swy FRa R0

A climbed upon the roof of his house with the help of a ladder. B intentionally
pulls the ladder. What offence has been committed by B?

* &k
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